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1. ABCD is a quadrilateral side BC is 2m and
AB is 2m greater than the side BC. AD is
2m greater than the side CD, and side CD
is 1m greater than the side BC. Find the
perimetre of the quadrilateral?

(A) 14
(8) 10
(€) 11
(o) 122
(£} None of these

Answer[]

2. In a dairy there are 703 cows and, each
cow gives 3.5 litre of milk per day. How
much milk is collected per day?
(A) 2460.5 litre
{8) 24705 litre
C) 23.60. 5 litre
(D) 2560.5 ltre
(€) None of these

Answer[7]

REF/iDM'10/BHN

3. For long distance telephone calls, a
telephone company charges 30 paise per
minute or 1 paisa for two seconds. What
would be the cost of a call for 3 minutes
and 20 seconds?

(A) Rs 1.00 (B) Rs1.20
(€) Rs1.25 (D) Rs1.30
(E) None of these Answer[]
4. What should be subtracted from ’_ to
15
1
1 g
[ ® 3
< 1 o] 1
© 5 oy
(€) None of these Answer[]
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5. In the 20'" century (1901 - 2000), how
many years are divisible by 67

(A) 15 (8) 16
€) 17 (o) 24
() % Answer[]

6. Subtract the sum of least two consecutive
prime numbers from the sum of least two
consecutive composite numbers? (Hint: 4
and 6 are not two consecutive composite

numbers)
(A) 7 (8) 9
(c) 12 (D) 17

(E) None of these Answer[]

7. Thenumber431a37 is completely divisible
by 17. Find the value of a.
(A) 1 (8) 2
@3 (D)4

(E) None of these Answer []

8. Which one of the following options has
all the factors of 847
(A) 1,2,3,4,6,7,14,21,28,42,84
(8) 1,2,4,6,7,21,84
() 1,2,4,6,14,42,84
(D) 1,2,3,4,6,7,12,14,21,28,42,84
(€) None of these Answer[7]

9. Write the following in decimal form:

12. Which one of the following numbers
should be multiplied with numerator and
denominator of a fraction to get the
equivalent fraction?

(A)2 (8) 3
©a (D) Al of these
(€) None of these Answer[]

13. Length of a rectangle is twice of Its
breadth. If the perimetre of the rectangle
i5.24 cm then find its area.

(A) 240m?
(8) 32cm?
(€) 30em?
(D) 28¢m?

(€) None of these Answer[(]

14. To check whether a number is divisible by
3, which one of the following is the
correct and shortcut method?

(A) Divide the number by 3

(8) The difference of the digits should be
multiple of 3

(€) Sumof the digits of the given number should
be divisible by 3

(D) All of these

(€) None of these

Answer(]

15. Which one of the following is correct
about triangle?
(A) In a triangle two angles can be right angle
(8) Ina triangle two angles can be obtuse angle
(€} In a triangle all angles can be acute angle
(D) All of these
(€) None ofthese

Answer[]

e Ten | ome I e
s 2 B B F; i)

() 3654.23 (8) 365423

(c) 365.423 (D) 365423

(E) None of these Answer (]
10. Write 90 in Roman Numerals.

(A) XC (8) LXXXX

(c) cx (D) All of these

(€) None of these Answer ]

11. A water pipe can fill a water tank of
capacity 130 L, in 2 hour. How long will it
take to fill a bucket of 26 L?
(A) 30 minute
(8) 20 minute
€} 24 minute
(D) 25minute
{E) None of these

Answer[]

16. Given below the figure of a semicircle. If
radius of the semicircle is 14 then find the
sum of perimetres of two such semicircle.

A B
(A) 88cm

(8) 30cm

(C) aacm

(D) 144cm

(E) None of these Answer[]
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1,5%1,5=2,25
2,5%2,526,25
3,5x3,5212.25

Find ___x 9900,25
(A) 335 (8) 665
(€) 995 (D) 1005
(€)300,5 Answer (]

18. The entrance fee of the doll museum is Rs.
5 per child and Rs16 per adult. A total of
Rs 789 was raised. Find the maximum
aumber of people who visited the

museum.

(A) 37 (8) 38

(c) 138 (D) 149

(E) 157 Answer[ "]
19. Complete the series. 1, 8, 27, 64, ?

(A) 105 (8) 115

(c) 125 (D) All of these

{€) None of these Answer[]
20. Find the perimetre of the given figure.

im
m 2m> 0.5m

(A) 185m (8) 16.05m

() 18.05m (0) 17.5m

(€) None of these Answer[]
21. Serena has a cube of side 4 cm and Ricky

has a cube of side double than Serena.

What is the volume of Ricky's cube?

(A) 64 cm? (8) 512cm?

(c) 412¢m? (D) 312cm?

(€) None of these Answer[]
22. A number when divided by 2, 4 and 5

leaves remainder 1, 3, and 2 respectively.

Find the number.

(A) 789 (8) 785
REF/iON"10/BH

85

Answer[]

(c) 786
() None of these

(o) 787

23,

In a right triangle ABC , hypotenuse is
13cm, perpendicular is 12cm and base is
scm. Find its area.
(A) 28cm?

(€) 34cm?

(E) None of these

(8) 30cm?
(0) 36cm?

Answer[]

2.

Given below the figure of a square. What
does the shaded portion represent?

(A) Length
(C) Area
(E) None of these

(8) Breadth
(D) Al of these

Answer[[]

25.

An auto driver charges Rs 5 for first km
and Rs 3/km for each km after 1. If speed
of the auto is 25km/h and you travel for
2 and half an hour, find the money you
will have to paid?

(A) Rs 190 (8) Rs189.50
(C) Rs188.50 (D) Rs 187.50
(€) None of these Answer[]

26.

What least decimal fraction should be
added to 52.764 so that it becomes a
whole number?
(A) 0136
(c) 0336
(E) None of these

(8) 0036
(0) 0236
Answer[]

27.

During a 3 - day festival, the number of
visitors increases three times each day. If
the festival ended on day 3 with 3105
visitors on that day, then how many
visitors attended on day 12

(A) 315 (8) 330
(c) 335 D) 360
(E) 375 Answer[]
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28. A boy has 17 pens in his bag. He has 8
green pens, 5 blue pens and 4 red pens.
What is the minimum number of pens he
must take out of his bag, without replacing
them, in order to ensure that he has one
of each colour?

a (8) 8
(©) 12 ) 14
(£} 16 Answer[7]

29. Joy found that two numbers added up to
20. Five times the one number is ten more
than four times the other number. What
is the product of the two numbers?

(A} 84 (8) 91

() %6 (0) %

(€) 100 Answer[]
30.1/5=12,L=4,E=7andK =3 then SLEEK

(A) 7256 (8) 7156

(c) 7016 (0) 7056

{F} None of these Answer[7)

31.1f Z¥X = 123 and WVU = 456 then TSR = ?

(A) 123 (8) 345

(c) 789 (D) Al of these

(€) None of these Answer[]
32. Find the LC.M of 4, 6, 8, 12

(a)18 (8) 12

()28 (0) 2

{£) None of these Answer[]

33. Find the H.C.F of 21, 42 and 63
w7 (5) 3
ic) 21 (0] All of these
(£) None of these Answer[]

34. Write the first two common factors of 56
and 224are ___?
(A) 2and3

) 2and6
(E) None of these

(8) 2and 4
(D) 2and 7

Answer ]

Wirte the first common multiple of 17 and

35.

(81171
() 152 |
Answer ] |

36. How many hours are there in 1260
minutes?
(A) 31 hours
(8) 21 hours
(C) 19 hours
(D) 22 hours.

(E) None of these. Answer ]

37. Subtract the sum of 5 + 2 from 21
14 7 28

5
28
10
28
3
28
3
1
(€) None of these

(A)
(8)
(€

(0)

Answer[]

38.1f a coin is thrown once then what is the
probability of getting the head?

(A)

(8)

(<]

o)
(£) Answer[ "]

39. A number has 5 hundreds, 7 tens, 2 ones,
3tenths, 6 hundredths and § thousandths.
Write the number.
(A) 572365
(c) 572365
(E) None of these

None of these

(B) 572365
(D) 572365
Answer[[]

40. What least number should be added to
215" multiple of 5 so that it becomes

multiple of 117
(A1
3
None of these.

(8) 2
(D)4

Answer[]
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